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Please check that this question paper contains 8 printed pages and 2 pages of maps.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 22 questions.
Please write down the Serial Number of the question before attempting it.

15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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General Instructions :
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(iii)

(iv)

(v)
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(vii)

There are 22 questions in all.
All questions are compulsory.

Question numbers 1-7 are very short answer questions carrying 1 mark each.
Answer to each of these questions should not exceed 40 words.

Question numbers 8-13 are short answer questions carrying 3 marks each. Out of

which one question is a value based question. Answer to each of these questions
should not exceed 80-100 words.

Question numbers 14-20 are long answer questions carrying 5 marks each. Answer
to each of these questions should not exceed 150 words.

Question numbers 21 and 22 are related to identification or locating and labelling of
geographical features on maps carrying 5 marks each.

Outline maps of the World and India provided to you must be attached within your
answer-book.

(viii) Use of templates or stencils for drawing outline maps is allowed.
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[

Which form of rural settlement pattern develops along roads, railway-lines, rivers and
canals in the world ?

AR H 37T T 9T e &l hi= | R Tameal ot Faiies S &l 59l & 2 1

Which stream of migration recorded the highest number of migrants at the level of
intra — state migration in India ?

TR § T TR TGS & oo & [T b 9 Gared Ge STEE & 2 1

Which is the apex body responsible to improve the quality of roads at national level in
India ?

“TH T AT Ueh 3 [ ek ST 4 9 Uk & 7 =19 T 380 | 1

“The Volga is one of the most developed inland water-ways in Russia”. Justify.
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Classify rainfed farming on the basis of adequacy of soil moisture during cropping
season.

TReET Faen | A 68 TR e’ 9 i e ?

How is ‘node’ different from ‘link’ in transport system ?

foreer TR W 9IS HIETT % HEwdqul BF %, T o SRIER 38R F41 € ? Ush HRUT WL HIT |

Why has gathering little chance of becoming important at the global level ? Explain
one reason.

“UHIT SR T T T & 1”7 ST STV Fied 39 - ol AFEATT e | 3x1=3

“Nature and humans are inseparable elements”. Justify the statement with suitable
examples.
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Study the given diagram carefully and answer the questions that follow :

50+ Changes in Shares of Land-use Categories in India : 1960-61 45 46
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(9.1)  Which land use category has shown the highest increasing trend ? What percentage
in reporting area has increased in that category, during the given period ?
(9.2) Explain any two reasons responsible for the increasing trend in that category.
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Note : The following question is for the Visually Impaired Candidates Only in lieu
of Q. No.9:

Which land use category has shown the highest increasing trend in India ? Explain any
two reasons responsible for this increasing trend.
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Study the map given below carefully and answer the questions that follow :
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(10.1) Identify and name the canal shown in the map.
(10.2) State any four features of this canal.
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Note : The following question is for the Visually Impaired Candidates Only, in lieu
of Q.No. 10.

Explain any three features of the Great Lakes — St. Lawerance Seaway.
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Distinguish between clustered and semiclustered rural settlements of India, stating
three points of distinction.

12.  HIehUT YoTHN i el oI forersanet T aoi il | 3x1=3

Describe any three features of Konkan Railway.

13, “aTg UgUOT SGITAST, WIS 3 Tt & e agd afeRs ¢ 1 U ol dF geat
1 AT DT ST T 85 T o1 i UFT0T Gord T H FeTdeh & Tl ¢ | 3x1=3

“Air pollution is very harmful to flora, fauna and property.” Explain any three values
which can help in maintaining pollution free air to some extent.

14, T9R & fai= 390 § yeferd (Hete $iT & 31 TR & § € 2 Haie $H % &7 UhRi o §&T
foreiudren 19U ity | 1+4=5

What are the two types of subsistence agriculture practised in different countries of the
world ? Describe the main features of these types.

15.  “Igdl g8 UNT % HRUT e~ STeT I TG FUad; TR Bl T Il A & 17 T B Hl
foveTor HIT | 5

“Scarcity of water on account of its increased demand, possess possibility the greatest
demand in India.” Analyse the statement.

16.  FTCl ST UReT o o & oTT STRETat foheel Ui hehl Sl ST ST | 5x1=5

Explain any five factors responsible for the development of ‘Hugli Industrial Region’.

17. SHEE % Ocd 9 991 AU & 2 GOR | SHYEAT & foraior sl ueifad 6 ool =K Simiferss
T I ITELUN Fied I BT | 1+4=5

What is the meaning of density of population ? Examine the four geographical factors that

influence the distribution of population in the world with suitable examples.

18. a2 99H W oMT S aret e fafv=r fefqar @ g w wed & 9 st fefd @
THIeT e ATt fohel A el i T i | 1+4=5

Why do large scale industries choose different locations ? Explain any four factors
which influence the industrial location.
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TS Gy Tohe AT § 17 ST STV Aled 39 HAF i I HiT | 5x1=5

“An uneven distribution of population suggests a close relationship between population
and physical and socio-economic factors.” Support the statement with suitable examples.

20. MG foaHE T 7 U & 2 A G o 9 SR Sl [avelgor hifsT | 1+4=5

What is human development ? Analyse the four pillars of human development.
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Identify the five Geographical features shown on the political outline map of the World as
A, B, C, D and E and write their correct names on the lines marked near them with the
help of the following information :

(A) A large country of Europe in area.

(B) Anareaof subsistence gathering.

(C) The terminal station of a ‘trans-continental railway’.

(D) A major sea-port.

(E) An international airport.

e ; F=TArEd Tee hae gleart wientaat & o ue 9@ 21 % ©H WE
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(21.3) AETATE IR AU YeTq1T o1 qerd Uiy LI iF | & 2
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22.

Note : The following questions are for the Visually Impaired Candidates only, in lieu
of Q. No. 21 :

(21.1) Name the largest country of Europe in area.

(21.2) Name any one major area of subsistence gathering.

(21.3) Which is the westernmost station of Australian Trans-Continental Railway ?
(21.4) Name any one major sea port located on the eastern coast of South America.

(21.5) Name the southernmost international airport of Africa.

YR & T TT AP T@-AMrET § Fefafad wetorn o Suged el @ 9t 3R 3%
Wﬁf@'{: 5

(i) aiys THHT 5T (2011) |
(il) HUTH HT SO IR T |
(iii) U § e Wieaay Ui o |
(iv) SHrTE § e S S e @ |
(v) e | ferd seE ag uee |

Locate and label the following features with appropriate symbols on the given political
outline map of India :

(i)  The most urbanized state (2011).

(i) The leading cotton producing state.

(ii1)) The Software Technology park located in Punjab.
(iv) The major coal field located in Chhattisgarh.

(v)  The international airport located in Karnataka.
e ; F=TArEd Tee hae gieaTta wienteaat & o ue 9@ 22 % ©F WE
(22.1) R 1 FaH ATk TR T DI AT E 2
(22.2) 9RA % HUE & U 3G T HT A1 (AT |
(22.3) U W Eq WiReeRY HENRTeh! 9T 1 A1 A |
(22.4) BHMETE | feId g o TE @H H AW | |
(22.5) HAlecH § e RIS a1 g0 61 919 fef@ |
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Note : The following questions are for the Visually Impaired Candidates only, in
lieu of Q.No. 22 :

(22.1) Which is the most urbanized state of India ?

(22.2) Name the leading cotton producing state of India.
(22.3) Name the Software Technology park located in Punjab.
(22.4) Name the major coal field located in Chhattisgarh.

(22.5) Name the international airport located in Karnataka.
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Map for Q. No. 21
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Map for Q. No. 22
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Longitude East of Greenwich
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